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27b (’r mawp) 2 29a (372119 K5 1YW I¥NRY)

I 1 mwn: iYawn Yy ndn nyaw pr
a  if: he takes oath not to eat a loaf of bread, (1 123 Y218 ®5¥) then adds another not to eat it (Mm%318 ®5W) — only liable for 1
i note: use of NYIIR after Y2IR as per K17
1 %2 liable at notd
2 /252 only liable if he eats the entire loaf
(a) therefore: the second oath is invalid as it obligates less than the first
(b) but: if he were to invert — mY2)w and then Y218v — would be liable twice (if he ate the whole loaf)
ii  question: what is the purpose of 3 oaths here?
1 Answer: per X171 - the “invalid” oaths hang over him, such that if he is 581 on the 1%, the 27 activates
(a) Suggested support: if one took 2 m»1, finished #1 and brought 129 and was then YR on 1%t - consid-
ered as if he completed 2nd (i.e. 1%t - 2nd)
(b) Deflection: in that case, the 2"4 myym1 was real; in our case, the 2"d ny1aw had not “footing”
iii  Related ruling (x¥2%): if he took an oath against a loaf and had eaten all but n’1> — may be Xv; if less left — may not
1 Challenge: if he said 921Rv, already violated at 1% n»13; if he said mY218W — as long as there is 1 crumb - H8w
2 Answerl: could’ve said 9918 ®YW; since the nYRW is effective for last ny, it has effectiveness for 15t nna
3 Answer2: could’ve said M52 RHW; only a n°1a (or more) is significant enough for him to be Yxw
(a) Challenge: ruling about 2 m»7°11 as above (= he can be Y81 even after fully complete)
(i) Answer: he hadn’t brought the 127p yet (i.e. no fully done)
1. Block: it states, in that ruling — 992
(ii) Answer: he hadn’t yet shaved (per 8™ — m% is n793 20yn)
1. Block: ruling also states nm
(iii) Answer (wx ”9): no challenge; reason 2" mvm hadn’t yet taken effect was because 1t mvm
“blocked” it; now the first is gone, the 2" becomes retroactively effective
4 Dissent (70’0N): even if he ate the whole loaf, may be 8w
(a) Reason: if he was mw, hasn’t yet brought 121p; if 7, didn’t yet get mon
(i) However: if he was already strapped to the flogging pole — too late
1. As per: YR1nv’s ruling that if he was strapped and fled — exempt (i.e. mas=got man)
2. Rejection: in that case, he fled (was already disgraced)
iv  Related ruling (N¥27): if he made eating loaf A a “trigger” for an oath against eating loaf B (A->B)
1 If: he ate A mw3, then if he eats B (even 71n1) — exempt
2 If he ate A 73, then if he eats B awa - liable for nva ny1aw
3 If he ate both mwa — exempt
4 If-he ate both 71na -
(a) If he ate A first - liable
(b) If he ate B first — depends on whether nxnn nnW pav NN (as per 130 ") or not (as per ™)
v Spinoff: if he banned eating each contingent on eating the other (A->B; B> A)
1 If: he ate either (or both) remembering it was a trigger but forgetting the result — exempt
2 If: he ate either (or both), forgetting its role as trigger but remembering its impact — liable
3 If: he ate both mwa — exempt
4 If-he ate both 72
(a) The second one: full liability
(b) The first one: depends on the above-mentioned dispute
vi  Support (»3p ") per 1-R:3 7T 4 01T which are ipso facto permitted, including m»w 1
1 Meaning:if he took a vow against eating and forgot
(a) And:we learn that m»aw::n»1 2> 1Imn mmw naw; which must mean this case (where trigger is mwa)
vii Story of 892y and his brother »»2ax: quizzed him on 3 cases of 1pW/"071 N12W — Ry failed all 3
1 Common feature: missed point of inclusiveness and augmentation of ny1aw
2 However (7ax8): koY has a theoretical position consistent with na3:
(@) If: he took an oath against grapeséfigs, then just figs — and ate figs, designated 129p and then ate grapes:
(i) Then: he is exempt, as D221y are a MYV *¥n of the “remaining” oath.
b definition: this is the »1072 n»aw for which liability mwa is 791 0%y 129p — and Tma - non
¢ however: R1W N2 carries no liability awa, but mon if done intentionally
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